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sl AR ABUS AEH e 2y £t EF
2015-01-03 |R+2E, ==& Ots=2a N 100 N 70,000
2015-01-07 |MS M WA= Ots=a N 1 N 600,000
2015-01-09 (&E# Ot s =4 N 32 o 64,000
2015-01-10 |2+=2E, ==& OtsS=4 N 100 N 70,000
2015-01-15 |=JtA =g N 2 A 80,000
2015-01-16 (BB E Ot s =4 N 15 N 120,000
2015-01-16 | &= Ots=a N 34 H 408,000
2015-01-16 |==38 Ots=a N 1 Jh 15,000
2015-01-16 |UHFE0tE OtsS=4 N 5 gtA 150,000
2015-01-16 = Ots=a N 2 grA 50,000
2015-01-17 | & X[& =g N 10 kg 50,000
2015-01-17 | 2% Ots=x N 150 Bl 180,000
2015-01-17 | & =g N 100 el 500,000
2015-01-17 | HAX& =g N 1 NE 267,470
2015-01-17 [RF2E, =23 Ots=a N 100 h 70,000
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AELT NBLIS AEX 2RSS 2z =X EF

2015-01-23 |S&= Ot sS =4 N 2 gtA 60,000
2015-01-23 | 2tk Ots=a N 55 N 55,000
2015-01-23 | oAt OrS=4 N 1 grA 28,800
2015-01-24 |2+2E, ==& Ots=2 N 100 H 70,000
2015-01-24 |01 =g N 2 gtA 100,000
2015-01-24 | & =g N 20 ZCH 400,000
2015-01-24 | OtOIA3E Ots=a N 600 N 720,000
2015-01-24 |AAIX& = N 1 grA 350,900
2015-01-24 | X5l2& 23HE L=0l =& Ots=x N 2 NE 150,000
2015-01-26 |S&= Ots=a N 2 grA 60,000
2015-01-26 | =ct Ots =4 N 20 N 40,000
2015-01-26 | E=F=A OtsS=4 N 32 ‘E 38,400
2015-01-26 | LAt OtsS=4 N 1 grA 30,000
2015-01-26 | LF&E =g N 2 = 30,000
2015-01-26 | Eclld =g N 9 gtA 90,000
2015-01-26 |=&& =g N 2 = 30,000
2015-01-28 |[==X& OtsS=4 N 24 & 144,000
2015-01-28 |[==X& Ots=a N 24 = 144,000
2015-01-28 | ==X Ots=x N 24 & 144,000
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54 | 2015-01-28 |==x orE A N 24 o 144,000
5 | 2015-01-29 |xlet m=al N 40 o 80,000
s6 | eots-0t-30 | Sl t=SuA N 10 o 140,000
57 | 2015-01-30 %g)%i%ﬂ’ﬂ N 100 o 81,200
58 | 2050130 | Sl t=S A N 10 oH 100,000
59 | 2050130 | Sl Jt=S A N 1 o 8,300
60 | eois-0t-30 |Ef t=SuA N i o 12,000
61 | 2015-01-30 |=AME =9 N 8| =x 9,000
& | 20150131 |2n2E, 2= N 100 o 70,000
63 | 2015-02-01 |2l N 50 o 200,000
64 | 2015-02-01 |BXt N 3| =a 150,000
65 | 2015-02-01 |EH= N 10 m 150,000
66 | 2015-02-07 |Elx0tS = M2 N i 2 62,400
67 | 2015-00-07 |27m2E, 2= N 100 o 70,000
68 | 2015-02-00 |MS= N % o 115,200
69 | 2015-02-09 |234 N 200 o 200,000
70 | 2015-02-09 |otolA3 N i oA 185,200
71 | 2015-00-09 |mxt N i oA 414,500
72 | 2015-02-00 |®z N i o 100,000
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73 2015-02-10 Ot sS =4 N 1 354,720
74 2015-02-10 Ots=x N 1 10,000
75 2015-02-10 OrS=4 N 4 100,000
76 2015-02-10 Ots=2 N 3 90,000
7 2015-02-10 Ots=2 N 84 840,000
78 2015-02-11 =4 N 25 87,500
79 2015-02-11 =4 N 25 87,500
80 2015-02-11 =4 N 10 165,000
81 2015-02-11 =4 N 15 149,250
82 2015-02-11 =4 N 1 grA 50,000
83 2015-02-12 =g N 150 g 825,000
84 2015-02-12 Ots=x N 66 f 660,000
85 2015-02-12 = N 50 grA ,000,000
86 2015-02-12 Ots=x N 2 gtA 60,000
87 2015-02-14 = Ots=2 N 100 H 70,000
88 2015-02-14 Ots=2a N 100 120,000
89 2015-02-14 =Y N 2 40,000
90 2015-02-14 = N 10 250,000
91 2015-02-15 =g N 1 31,000
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31,000

2015-02-15

7z
=

0H

Ol

31,000

2015-02-15

7z
=

0t

O

31,000

95

2015-02-15

7z
=

O
O

31,000

9%

2015-02-15

=z
=

0H

O

31,000

97

2015-02-15

7z
=

O
Ok

31,000

98

2015-02-16

s
s

50,000

9

2015-02-16

0z
00
O

1]

250,000

100

2015-02-16

oy
M
@
gl

o
>

I

,200,000

101

2015-02-16

>3

250,000

102

2015-02-16

=
i

:

400,000

103

2015-02-21

fO
In
im
b
T
U

70,000

104

2015-02-22

@ | 4
0K
O

2

416,000

105

2015-02-25

72,000

106

2015-02-25

144,000

107

2015-02-25

144,000

108

2015-02-25

72,000

109

2015-02-25

72,000

110

2015-02-25

= = = = = = = = = = = = = = = = = = = Hoh
all
o

72,000
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sl AR ArB LY AEH e 2y =X EF
130 | 2015-03-20 |ZtAl=@ Ot sS =4 N 54 N 108,000
131 2015-03-20 |2AlZ=H Ots=A N 320 N 384,000
182 | 2015-03-20 |Z2tAIXI& OrS=4 N 1 NE 118,820
133 | 2015-03-20 |&at3# Ots=2 N 2 kg 70,000
134 | 2015-03-20 |€Y=4 Ots=2 N 4 kg 60,000
135 | 2015-03-20 |4 Ots=2a N 2 H 100,000
136 | 2015-03-20 |Z2Aa=& Ots=x N 13 = 71,500
137 | 2015-03-20 |ZtAl=@ Ots=a N 525 H 630,000
138 | 2015-03-20 |Z2Aal=& OtsS=4 N 200 N 240,000
139 | 2015-03-21 | 2% OtS=4 N 100 o 120,000
140 | 2015-03-21 | Ltk Ots =4 N 63 gtA 926,100
141 2015-03-21 | HAXA =Y N 1 NE 188, 150
142 | 2015-03-21 | tAt Ots=a N 22 grA 323,400
143 | 2015-03-21 |2tAXI& Ots=x N 100 eI 50,000
144 | 2015-03-21 | W22 Mot IIELIE0] Ots=2 N 43 & 731,000
145 | 2015-03-21 | 2tk Ots=2a N 48 gtA 705,600
146 | 2015-03-21 | 1tAt Ots=x N 53 gfA 779,100
147 | 2015-03-21 | Btk Ots=a N 27 grA 396,900
148 | 2015-03-21 | 1tX&t Ots=x N 27 gtA 396,900
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sl AR ArB LY AEH e 2y =X EF

149 | 2015-03-21 |2tAIKIE Ot sS =4 N 2 o 20,000
150 | 2015-03-21 |2 et &M ot= JIEULS0I Ots=A N 33 N 132,000
151 | 2015-03-21 |22 &Mt IHELESO0I OrS=4 N 45 elz 315,000
152 | 2015-03-21 |2t &M ot= JIELSOI Ots=2 N 3 H 10,500
153 | 2015-03-21 | W22 Mot IIELIE0) Ots=a N 1 ¥ 500,000
154 | 2015-03-23 |2JIFX&H =g N 3 o 240,000
185 | 2015-03-25 |LIOt: =& Ots=a N 1 CH 1,900,000
156 | 2015-03-28 |AAIXKIE = N 1 grA 178,990
157 | 2015-03-28 |Z2tAIXI& Ots=x N 20 = 60,000
158 | 2015-03-30 |=RXI& OtS=4 N 1 grA 200,000
159 | 2015-04-01 |2tAIKIE Ots =4 N 400 N 80,000
160 | 2015-04-04 |2tAIXIA Ots=x N 10 NE 50,000
161 | 2015-04-07 |AIEJl XI& Ots=a N 1 CH 500,000
162 | 2015-04-11 | 2tAXI&A Ots=x N 10 NE 50,000
163 | 2015-04-12 |HOFXIR Ots=a N 15 H 45,000
164 | 2015-04-12 |OPJIBHDIXIA Ots=2a N 20 N 40,000
165 | 2015-04-12 |=JtAKIE Ots=x N 2 gfA 300,000
166 | 2015-04-12 |2S3HA& Ots=a N 85 h 1,700,000
167 | 2015-04-12 |MEAR XA Ots=x N 2 gtA 40,000
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sl AR ArB LY AEH e 2y =X EF

168 | 2015-04-13 |21 Ot sS =4 N 5 gtA 200,000
169 | 2015-04-13 |dsSIIX& Ots=x N 1 gtA 100,000
170 | 2015-04-13 |S&XI& OrS=4 N 9 o 180,000
171 2015-04-18 | 2tAIXI& = N 4 gtA 160,000
172 | 2015-04-18 | 2tAIXIR =g N 100 N 150,000
173 | 2015-04-18 |AAIKE = N 1 NE& 166,250
174 | 2015-04-18 |SAXE Ots=x N 10 NE 50,000
175 | 2015-04-19 | SAIXE = N 1 NE 44,700
176 | 2015-04-19 |SAXE =g N 1 NE 44,700
177 | 2015-04-19 | SAIXE = N 1 NE 44,700
178 | 2015-04-19 |SAIKE = N 1 NE 44,700
179 | 2015-04-19 |SAXE =Y N 1 NE 44,700
180 | 2015-04-19 |SAIKE = N 1 NE 44,700
181 2015-04-19 | SA XA Ots=x N 1 NE 44,700
182 | 2015-04-19 |ZtAIXKIS Ots=2 N 80 NE 320,000
183 | 2015-04-21 |OHOIA3E Ots=2a N 553 N 774,200
184 | 2015-04-21 |OHOIA3E Ots=a N 8 N 9,600
185 | 2015-04-21 |OHOIA3E Ots=a N 8 h 44,000
186 | 2015-04-21 |OHOIA3E OtsS=4 N 45 N 27,000
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sl AR ArB LY AEH e 2y =X EF

187 | 2015-04-21 |Ot0IA3E Ot sS =4 N 25 gtA 720,000
188 | 2015-04-22 |2JIXI& Ots=x N 16 o 320,000
189 | 2015-04-22 |ASFRAZ OrS=4 N 10 NE 200,000
190 | 2015-04-27 |SUS0l A JIE3S Ots=2 N 1 NE 16,000
191 2015-04-27 |SLISO0| &AL J|1E€ 3 Ots=2 N 4 NE 54,000
192 | 2015-04-27 | MStaDl HE & 2HA Ots=2a N 1 N 300,560
193 | 2015-04-27 |SUS0I At JIES Ots=x N 3 NE 48,000
194 | 2015-04-27 |SUS0l A Ots=a N 1 cH 8,300
195 | 2015-04-27 |SU=0l &AL OtsS=4 N 1 CH 6,500
196 | 2015-04-27 | SUS0| AL 2HA] Ots=a N 13 o 362,700
197 | 2015-04-27 | SUS0| &AL 24 Ots =4 N 1 gtA 426,000
198 | 2015-04-27 |SU=0l &AL JIES Ots=x N 1 NE 90,000
199 | 2015-04-27 |sSLISO0l &AL €3 OtsS=4 N 1 NE 17,100
200 | 2015-04-27 |SUS0l A JIES Ots=x N 1 NE 56,600
201 2015-04-27 | SLISO0| &AL J|1E€3 Ots=2 N 1 NE 13,500
202 | 2015-04-27 |MEZE & S= Ots=2a N 1 H 301,300
203 | 2015-04-27 |2AAS Ots=x N 1 gfA 1,160,000
204 | 2015-04-30 |Ots 2+A OtS =4 N 8 grA 440,000
205 | 2015-05-02 |&<=&E0tE OtsS=4 N 3 gtA 75,000
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ZoizEs| o e
g = o
ooy de W[=EN N 42,930
olRlole M= G[I=EPN N 209,040
ooy de ([=EPN N 431,850
olRlole M= G[I=EPN N 196,980
olRlole M2 G[E=EN N 170,415
AR G[I=EPN N = 50,000
sectclaas aehs (JE=SPN N 144,000
e G[=EPN N SN 300,000
Scteldnst BNsh= (JE=S-PN N I 120,000
e OtE=A N SN 50,000
N WL N A 120,000
sgeieleiAs BHoE ] PN \ H 128,000
%gjaaeﬁgr slot= ] PN \ 117,000
é;:_jaomwszr Sote ] PN \ 10.000
é;:jaromﬁfzr Sot= ] PN \ 46 000
%gjaom&er o= ] PN \ 150,000
%%EPOIEAEP S ot= ] PN \ 250 000
§;:ja+0|o_+ﬁszr slot= ] N \ 100,000
=9 G[I=EPN N 540,000
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sl AR ArB LY AEH e 2y =X EF

244 | 2015-05-11 | =Xl Ot sS =4 N 15 =3 900,000
245 | 2015-05-11 | 2tAl Ots=A N 105 N 73,500
246 | 2015-05-11 |2tAl=@ Ots=a N 264 Jh 316,800
247 | 2015-05-11 |2t Ots=2 N 480 H 672,000
248 | 2015-05-11 | 2tA Ots=2 N 24 = 132,000
249 | 2015-05-11 | 2t& Ots=2a N 30 N 45,000
250 | 2015-05-16 |ZEAAXE Ots=x N 1 NE 181,150
251 | 2015-05-18 |8& Ots=a N 6 H 9,000
252 | 2015-05-18 |AY= Ots=x N 2 NE 30,000
253 | 2015-05-20 |XROIOIE K& SAt OtS=4 N 1 grA 156,530
254 | 2015-05-20 |XROIOIE A& SAH Ots =4 N 1 N 190,260
255 | 2015-05-22 |&X =g N 70 kg 280,000
256 | 2015-05-23 | Z2tAIKIE = N 10 NE 50,000
257 | 2015-05-23 |&AlX& =g N 1 NE 121,720
258 | 2015-05-29 |2%= Ots=2 N 150 Bl 180,000
259 | 2015-05-30 |M<LIHEIXIZ = N 30 N 45,000
260 | 2015-05-30 |ZtAIXIH =Y N 10 NE 50,000
261 | 2015-05-31 |OicI&2l OtS =4 N 1 grA 50,000
262 | 2015-05-31 |% OtsS=4 N 80 N 104,000
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su| ABUT NEIE AEH e 2y = EF

263 | 2015-06-05 |Et= Ot sS =4 N 100 & 410,000
264 | 2015-06-05 | At== Ots=A N 100 =4 30,000
265 | 2015-06-07 |OHOIASE Ots=a N 9 N 18,000
266 | 2015-06-07 |OIOIAZE Ots=2 N 65 N 78,000
267 | 2015-06-07 |OHOIA3E Ots=a N 75 N 52,500
268 | 2015-06-07 |OIOIAZSE Ots=2a N 9 N 72,000
269 | 2015-06-07 |OHOIA3E Ots=a N 254 N 355,600
270 | 2015-06-07 |&2) SIS SA Ot S=4 N 1 . 61,000
271 2015-06-07 | OtOIA3E Ots=a N 1050 N 735,000
272 | 2015-06-07 |OHOIA3E Ots=a N 5 N 7,500
273 | 2015-06-07 |&LNY HASAH(RAMEZ) Ots =4 N 1 N 205,620
274 | 2015-06-07 |OtOIA3E Ots=a N 18 N 54,000
2715 | 2015-06-12 |R»=S® L=EF OtsS=4 N 43 & 645,000
2716 | 2015-06-12 |»=SR LSF Ots=a N 35 N 175,000
277 | 2015-06-12 |RS=ST LI=EF OtsS=4 N 135 g 945,000
278 | 2015-06-12 | M YN WEAHEI= Ots=A N 1 N 120,000
279 | 2015-06-12 |==S® LI== OtsS=4 N 140 g 1,400,000
280 | 2015-06-16 |Z2tAXI& = N 40 N 44,000
281 2015-06-16 |RAZRH(LFH=ESE10DI) =g N 60 kg 349,800
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Y

K%

o
4
o

0Joz
Jgoa

=a
&
SEl% = N 90,000
SN o N 81,000
MuES =y N 115,200
sasH = N 276,000
AT =2 N 000,000
Ny =y N 250,000
SN L] (I PN N 150,000
N WESEEN N 180,000
SN L WIS PN N 30,000
2HAIS WE=EEN N 100,000
2HAIR| 2 ots=A N 350,000
o272 ME=EPN N 500,000
N WESEEN N 75,000
SN WIS PN N s 90,000
HEolE (I PN N CIPN 1,300,000
zx= ots=A N Bt A 1,300,000
CEDE (IS PN N CIPN 1,300,000
Aoz =S4 N EIPS 2,600,000
Hgolg WIS PN N CIPN 2,600,000
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sl AR ArB LY AEH e 2y =X EF

301 | 2015-06-21 |AHSIZMIQF WA= Ot sS =4 N 1 h 600,000
302 | 2015-06-25 |ZZAFKIE Ots=x N 20 FS 200,000
303 | 2015-06-25 |<S&tXIE OrS=4 N 16 NE 192,000
304 | 2015-06-26 |M&2IF Ots=2 N 2 gtA 40,000
305 | 2015-06-26 |MHEAIE Ots=2 N 4 gtA 40,000
306 | 2015-06-26 |TV =& Ots=2a N 1 cH 500,000
307 | 2015-06-26 |==%t Ots=x N 10 = 160,000
308 | 2015-06-26 |OGISMS Ot S=4 N 13 = 195,000
309 | 2015-06-26 |Ots2IF Ots=x N 66 & 792,000
310 | 2015-06-26 |Ots2= Ots=a N 62 & 434,000
311 | 2015-06-26 |&<2 Ots =4 N 2 gtA 50,000
312 | 2015-06-26 |EUHEXOts HH=S Ots=x N 1 gtA 826,200
313 | 2015-06-29 |23t OtsS=4 N 60 = 3,000,000
314 | 2015-07-05 |OtOIA3E OlsS=4 N 1062 N 1,486,800
315 | 2015-07-05 |OHOIA3E Ots=a N 262 H 183,400
316 | 2015-07-05 |Ot0IA=E Ots=2a N 169 H 202,800
317 | 2015-07-05 |OHOIA3E Ots=a N 3 H 4,500
318 | 2015-07-05 |OtOIA3E Ots=a N 41 h 82,000
319 | 2015-07-09 |&& Ots=x N 3 gtA 90,000
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339 | 2015-07-19 | 2tAIKIE Ot sS =4 N 10 N 200,000
340 | 2015-07-19 | =&K& Ots=x N 1 o 36,000
341 | 2015-07-21 |9 OrS=4 N 1 grA 15,000
342 | 2015-07-21 |88= Ots=2 N 2 gtA 44,000
343 | 2015-07-21 |&2I3 Ots=2 N 1 gtA 17,500
344 | 2015-07-21 |SILIHHE & Ots=2a N 2 gtA 34,000
345 | 2015-07-21 |&t&E X Ots=a N 10 N 145,000
346 | 2015-07-21 |<lAM Ots=a N 23 o 276,000
347 | 2015-07-21 | = ELOIAIA Ots=x N 5 gtA 55,000
348 | 2015-07-21 | ZJHE OtS=4 N 4 grA 100,000
349 | 2015-07-21 | =2 1t0| Ots =4 N 5 gtA 18,000
350 | 2015-07-21 |&& Ots=x N 50 ot 240,000
351 | 2015-07-23 |3t DIHMAS AAH| OtsS=4 N 1 £ 243,000
352 | 2015-07-25 |Z2tAIXI# Ots=x N 1 o 50,000
353 | 2015-07-25 |AAIXKIH =g N 1 F3 349,830
354 | 2015-07-27 | SAXHA Ots=2a N 1 o 36,000
355 | 2015-07-27 | SAXA Ots=x N 1 NE 36,000
356 | 2015-07-27 | SAIKE OtS =4 N 1 o 36,000
357 | 2015-07-27 |=SAXE Ots=x N 1 o 36,000
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358 | 2015-07-27 |SAIKE Ot sS =4 N 1 o 36,000
359 | 2015-08-02 |EBSuIHAIA Ots=x N 15 ! 300,000
360 | 2015-08-02 |WXIO= Ots=a N 20 grA 750,000
361 | 2015-08-03 |S=+== Ots=2 N 2 gtA 60,000
362 | 2015-08-03 |E=MXIH Ots=2 N 100 gtA 300,000
363 | 2015-08-03 |==&t Ots=2a N 1 = 15,000
364 | 2015-08-03 tH Ots=x N 3 gtA 54,000
365 | 2015-08-03 |==&t Ot S=4 N 3 = 51,000
366 | 2015-08-03 |&f%F OtsS=4 N 12 N 114,000
367 | 2015-08-03 |HICI&F= Ots=a N 13 H 130,000
368 | 2015-08-04 |RAIFEXE =g N 1 kg 200,000
369 | 2015-08-06 |ZHEAMSH2E AAH| Ots=x N 8 eI 56,000
370 | 2015-08-06 |M&2AFAE OtsS=4 N 10 grA 100,000
371 2015-08-08 [JIELIS0l 22 ) Ots=x N 19 & 570,000
372 | 2015-08-11 |ZAIEX& Ots=2 N 1 Bl 70,000
373 | 2015-08-11 | S Ots=2a N 1 gtA 499,700
374 | 2015-08-12 | ZtAIXIH Ots=a N 1200 H 1,440,000
375 | 2015-08-15 | &Y HASA OtS =4 N 1 53 9,200
376 | 2015-08-15 | &2 0T HASA Ots=x N 1 kg 115,880
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377 | 2015-08-16 |OtOIA=3E Ot sS =4 N 137 N 191,800
378 | 2015-08-16 |OtOIA3E Ots=A N 2 N 4,000
379 | 2015-08-16 |OtOIA3E Ots=a N 194 Jh 465,600
380 | 2015-08-16 |OtOIAE Ots=2 N 290 H 696,000
381 2015-08-16 | OLOIA3E Ots=a N 26 I 62,400
382 | 2015-08-16 |OtOIA=3E Ots=2a N 821 N 1,149,400
383 | 2015-08-16 |=AX&H =g N 1 bl 45,000
384 | 2015-08-16 |SAIKXEH =g N 1 o 45,000
385 | 2015-08-16 |=aX&H =g N 1 o 45,000
386 | 2015-08-16 |SAIKXEH =g N 1 o 45,000
387 | 2015-08-16 |SAIKE =g N 1 o 45,000
388 | 2015-08-16 |=AX&H =Y N 1 o 45,000
389 | 2015-08-16 |SAIKE =g N 1 o 45,000
390 | 2015-08-16 |ZAal=& Ots=x N 2 gtA 60,000
391 2015-08-16 |2Aal=& Ots=2 N 2 gtA 100,000
392 | 2015-08-16 |ZtAl=@ Ots=2a N 100 NE& 150,000
393 | 2015-08-16 |AI==0| oflel 2tal=& Ots=x N 3 gfA 72,000
394 | 2015-08-16 |At==0| oflel 2a =& Ots=a N 2 grA 90,000
395 | 2015-08-16 |At==0] offel 2HAIZ=& Ots=x N 3 = 12,000
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3% | 2015-08-16 |AI==0| oflel 24A =& Ot sS =4 N 4 =N 26,000
397 | 2015-08-16 |AAXNALE=SHE Ots=A N 80 NE 480,000
398 | 2015-08-17 |SSHILIEIH Ots=a N 2 NE 40,000
399 | 2015-08-17 | 2tAIXI& Ots=2 N 10 = 150,000
400 [ 2015-08-22 | BtAt Ots=2 N 110 =P\ 220,000
401 | 2015-08-22 (2% Ots=2a N 80 o 96,000
402 | 2015-08-22 | A& =& Ots=x N 1 gtA 273,710
403 | 2015-08-22 |StuwESAel AASA Ot S=4 N 1 = 77,760
404 | 2015-08-22 |StuwESAcl AASA =g N 70 Otel 189,000
405 | 2015-09-05 |Z2tAIXIE OtS=4 N 1 FS 150,000
406 | 2015-09-06 |2ta=& Ots =4 N 60 N 120,000
407 | 2015-09-06 |AA=& OtsS=4 N 577 N 807,800
408 | 2015-09-06 |2tal=& OtsS=4 N 56 =N 84,000
409 [ 2015-09-06 |AA=& Ots=x N 4 =PN 12,800
410 | 2015-09-06 |2tAal=& Ots=2 N 40 =N 48,000
411 | 2015-09-06 |2ta=& Ots=2a N 172 =N 172,000
412 | 2015-09-06 |2tAal=& Ots=x N 52 =N 156,000
413 | 2015-09-12 |[AAX& = N 1 NE 147,330
414 | 2015-09-12 | 2AXI& =g N 1 F3 150,000
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415 | 2015-09-15 |2tal=& Ot sS =4 N 1800 N 2,160,000
416 | 2015-09-15 |dMEZ =& Ots=x N 1 NE 268,730
417 | 2015-09-15 |2tal=& OrS=4 N 11 grA 440,000
418 | 2015-09-17 |2A =& =g N 10 gtA 250,000
419 | 2015-09-17 |RAl=& =g N 20 Bl 104,000
420 | 2015-09-17 |RA=& = N 147 kg 735,000
421 2015-09-17 |24 =&H =g N 20 bl 80,000
422 | 2015-09-19 | Ot S=4 N 60 NE 3,060,000
423 | 2015-09-19 | XI<F OtsS=4 N 1 N 20,000
424 | 2015-09-19 |22 X& OtS=4 N 61 FS 183,000
425 | 2015-09-19 |[AAX& =g N 1 F3 273,437
426 | 2015-09-19 |2 Ots=x N 160 = 160,000
427 | 2015-09-20 | 2tAI KA OtsS=4 N 1 53 150,000
428 | 2015-09-20 | 2tAIKIE Ots=x N 8 gtA 280,000
429 | 2015-09-23 |SRAa=& Ots=2 N 3 gtA 60,000
430 | 2015-09-23 |E&S 2 85 Ots=2a N 1 NE& 700,000
431 2015-09-23 (M2 Ots=x N 2 gfA 30,000
432 | 2015-09-23 |[NH&EH =3 Ots=a N 3 cH 60,000
433 | 2015-09-23 |E% OtsS=4 N 10 gtA 200,000
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oEA Ots=a N 600,000
HEE N Ots=a N ,840,000
HEEF K& Ots=a N 850,000
HEZ A& OtsS=A N 900,000
MES XA Ots=a N ,235,000
A XA Ots=A N 100,000
X Ots=a N 70,000
Oel& X Ots=a N 300,000
UM =E Ots=a N 336,000
A= Ots=a N 1,428,000
TLNDNE Ots=a N grA 120,000
SN Ots=a N g 280,000
A2 S AL OF Ots=a N H 91,390
AHE S AL Ots=a N grA 192,000
A= Ots=a N ,160,000
AHE S A Ots=a N 71,700
A RIA Ots=a N 100,000
HENME Ots=a N 84,000
HAX# Ots=a N 29,000
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453 | 2015-10-18 |2tAIXIE Ot sS =4 N 80 NE 320,000
454 [ 2015-10-18 |&AISAt Ots=x N 1 o 146,950
455 | 2015-10-18 |2tAIXIE OrS=4 N 3 grA 135,000
45 [ 2015-10-18 | SAXI& Ots=2 N 1 NE 29,000
457 | 2015-10-18 |2AIXIE Ots=2 N 1 NE 29,000
458 | 2015-10-18 |2tAIXIE Ots=2a N 1 NE& 29,000
459 [ 2015-10-18 | 2tAXI& Ots=x N 1 NE 29,000
460 | 2015-10-18 |SAXE Ot S=4 N 1 NE 29,000
461 2015-10-18 | 2ZtAIXI& Ots=x N 1 NE 29,000
462 | 2015-10-18 |2tAIXIE Ots=a N 12 NE 216,000
463 | 2015-10-28 |JHEHIS X Ots =4 N 1 CH 500,000
464 | 2015-10-31 | 2AAXIE Ots=x N 1 NE 60,000
465 [ 2015-11-06 | MM WFZHE= Ots=a N 1 Jh 360,000
466 | 2015-11-06 | MSIZMSF W=EAHE = Ots=a N 1 N 900,000
467 | 2015-11-07 |SASA(RAEH) Ots=a N 4 H 26,000
468 | 2015-11-07 |SAISAHRAEH) Ots=2a N 4 =N 12,000
469 | 2015-11-07 |[SASAHRAZFH) Ots=a N 10 H 25,000
470 | 2015-11-07 | SASAH(RASH) OtS =4 N 10 = 23,000
471 2015-11-07 | 2tAIXI& Ots=x N 1 NE 50,000
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472 | 2015-11-07 | 2tAIXI& Ot sS =4 N 1 o 60,000
473 | 2015-11-07 | A& =3 Ots=A N 342 N 1,026,000
474 | 2015-11-07 |2al=& Ots=a N 246 Jh 344,400
475 | 2015-11-07 |2A =& OtsS=A N 2 H 80,000
476 | 2015-11-07 |EEE Ots=2 N 10 gtA 400,000
477 | 2015-11-07 |2IF==& Ots=2a N 70 = 2,660,000
478 | 2015-11-07 [SA(RAMZ) Ots=x N 1 & 300,000
479 | 2015-11-07 |2tal=& Ot S=4 N 8 gtA 102,400
480 [ 2015-11-07 | A& =& Ots=x N 28 gtA 112,000
481 | 2015-11-07 |2~al=& Ots=a N 203 grA 304,500
482 | 2015-11-07 |2a=& Ots =4 N 398 N 796,000
483 [ 2015-11-09 | A& =& OtsS=4 N 2400 N 2,880,000
484 | 2015-11-14 [cHH OtsS=4 N 5 grA 100,000
485 | 2015-11-14 |LI=FX& OlsS=4 N 400 N 8,000,000
486 | 2015-11-14 |JHE WS XA Ots=a N 1 t 300,000
487 | 2015-11-14 | 2AXI& Ots=2a N 1 NE& 50,000
488 | 2015-11-14 |8 MIS K& Ots=a N 2 CH 4,000,000
489 | 2015-11-14 [ 2tAIXIE OtS =4 N 10 grA 150,000
490 [ 2015-11-14 | A& =3 Ots=x N 80 o 96,000
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491 | 2015-11-14 [ 2tAIXI& Ot sS =4 N 1 o 60,000
492 [ 2015-11-14 | 24AXI& Ots=x N 3 gtA 90,000
493 | 2015-11-15 |[SAM= X OrS=4 N 1 o 29,000
494 [ 2015-11-15 | SAME X Ots=2 N 1 o 29,000
495 | 2015-11-15 |[SAMES X Ots=2 N 1 Bl 29,000
4% | 2015-11-15 |[SAM= X Ots=2a N 1 o 29,000
497 | 2015-11-15 |[SAME X Ots=x N 1 e 29,000
498 | 2015-11-15 |HEJ XA Ot S=4 N 1 NE 50,000
499 [ 2015-11-15 | ML= Ots=x N 4 gtA 80,000
500 | 2015-11-15 |SAMEXE OtS=4 N 1 o 29,000
501 | 2015-11-15 | SA M= X Ots =4 N 1 o 29,000
502 | 2015-11-19 | Z&E XX =Y N 30 gtA 1,200,000
503 | 2015-11-21 | 2tAIKIE OtsS=4 N 1 NE 50,000
504 | 2015-11-21 |AAHE X Ots=x N 1 F3S 119,890
505 | 2015-11-21 |&BH2U4S Ots=2 N 1 NE 2,500,000
506 | 2015-11-21 |LI== Ots=2a N 39 NE& 1,950,000
507 | 2015-11-21 |LI== Ots=x N 150 NE 2,520,000
508 | 2015-11-21 |2tAIKI& OtS =4 N 1 o 60,000
509 | 2015-11-23 |AALBEHES Ots=x N 1 NE 424,800
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510 | 2015-11-24 |MEZ K& Ot sS =4 N 15 NE 118,500
511 2015-11-24 |2 E K& Ots=A N 25 N 112,500
512 | 2015-11-24 |MEZ K& Ots=a N 25 Jh 112,500
513 | 2015-11-24 |MEZ X& Ots=2 N 10 = 135,000
514 | 2015-11-24 |2tAl=@ Ots=2 N 10 gtA 150,000
515 | 2015-11-25 |2A= 3K 224 N 1 NIE 2,091,000
516 | 2015-11-28 |2tAXI&A Ots=x N 1 bl 60,000
517 | 2015-12-02 | =312AIX& Ot S=4 N 40 NE 1,200,000
518 | 2015-12-04 |2Aa=& Ots=x N 4 gtA 200,000
519 | 2015-12-05 |2ZtAIXIS OtS=4 N 1 o 60,000
520 | 2015-12-06 | Ots =4 N 62 H 62,000
521 2015-12-06 | 2Al=& Ots=x N 3 gtA 105,000
522 | 2015-12-06 |ZtAl=@ Ots=a N 2 grA 30,000
523 | 2015-12-06 |zAal=& Ots=x N 62 NE 124,000
524 | 2015-12-07 |Z2tAl=@ Ots=a N 3000 H 3,600,000
525 | 2015-12-08 |=2 K& Ots=2a N 147 =N 735,000
526 | 2015-12-09 |ZtAIXIH Ots=a N 40 H 280,000
527 | 2015-12-09 | ZtAIXI& Ots=a N 40 h 200,000
528 | 2015-12-09 |Z2tAIXI& Ots=x N 10 gtA 220,000
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ZHA Ots=a N 60,000
NS Ots=a N 40,000
SEMXE Ots=a N 900,000
2HA OtsS=A N 350,080
FAA Ol =¥ Ots=a N 1,000,000
FAA Otsk =¥ Ots=A N 245,400
mAA Otk =3 Ots=a N 500,000
ZtA X & Ots=a N 550,000
HAX Ots=a N 120,000
ST Ots=a N 165,000
IS XA Ots=a N 300,000
U Z=E Ots=a N 100,000
A= Ots=a N 300,000
HAIX Ots=a N 400,000
gatzs Ots=a N 120,000
U Z=EH Ots=A N 90,000
A RIA Ots=a N 40,000
SHEX Ots=a N 30,000
A= Ots=a N 240,000
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548 | 2015-12-19 | &t& X Ot sS =4 N 2 N 40,000
549 | 2015-12-19 |2Al=& Ots=x N 6 gtA 300,000
550 | 2015-12-20 |2Z2tAIKIE Ots=a N 40 Jh 480,000
551 2015-12-20 | 2HATHIZ Ots=2 N 70 NE 210,000
552 | 2015-12-20 |&EEZ & Ots=a N 20 I 460,000
553 | 2015-12-20 |BI&XI& Ots=2a N 24 N 72,000
554 | 2015-12-20 |=SAX& Ots=x N 1 e 65,000
555 | 2015-12-20 |SAXIA Ot S=4 N 1 o 65,000
556 | 2015-12-20 |=SAaX& Ots=x N 1 o 65,000
557 | 2015-12-20 |SAXIA OtS=4 N 1 o 65,000
558 | 2015-12-20 |SAXI# Ots =4 N 1 o 65,000
559 | 2015-12-20 |=AalX# Ots=x N 1 o 65,000
560 | 2015-12-20 |S&=ItAXE Ots=a N 2 grA 300,000
561 2015-12-20 | BHELZ2 XA OlsS=4 N 24 N 48,000
562 | 2015-12-20 |Asxt&Ed X& Ots=a N 97 H 485,000
563 | 2015-12-20 |SA&X& Ots=2a N 1 o 65,000
564 | 2015-12-20 |&EXIH Ots=x N 62 eI 620,000
565 | 2015-12-21 | WL FX& OtS =4 N 7 grA 280,000
566 | 2015-12-21 |&EZX&H OtsS=4 N 40 N 200,000
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567 | 2015-12-21 |ME2AF X Ot sS =4 N 8 gtA 240,000
568 | 2015-12-21 |ZZ4AF[XIE Ots=x N 40 NE 160,000
569 | 2015-12-21 |DJIFXE OrS=4 N 1 kg 300,000
570 | 2015-12-22 | & X& =g N 48 ECH 2,400,000
571 2015-12-24 |OtsSSs5 K& Ots=2 N 1 & 360,000
572 | 2015-12-24 |Otsst&X& Ots=2a N 1 = 360,000
573 | 2015-12-24 |OtsSs5X& Ots=x N 1 4 240,000
574 | 2015-12-24 |OtsstsXE Ot S=4 N 1 & 120,000
575 | 2015-12-24 |OtsSsAI#E Ots=x N 1 & 360,000
576 | 2015-12-24 |OtsssXE OtS=4 N 1 & 240,000
577 | 2015-12-24 |OtsstsX& Ots =4 N 1 & 360,000
578 | 2015-12-24 |OtsSsAIE Ots=x N 1 & 230,000
579 | 2015-12-24 |OtsstsX& OtsS=4 N 1 & 30,000
580 | 2015-12-24 |OtsSsAIE Ots=x N 1 & 120,000
581 2015-12-24 [ALX& Ots=2 N 11 elz 275,000
582 | 2015-12-24 |Otsst&X& Ots=2a N 1 & 132,000
583 | 2015-12-24 |OtsSs5X& Ots=x N 1 & 600,000
584 | 2015-12-24 |OtsstsXE OtS =4 N 1 & 180,000
585 | 2015-12-24 |OtsSs5X& Ots=x N 1 & 390,000
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